Surface albedo (%)

ol
I

10
Latitude

albszon

LMDZ High Cloud (%)
T

10
Latitude

clhzon

OBS
— CMbI-LR-amip-hist- 1870

— Nbv
— ARdOada

35 T T

301

Middle Cloud (%)

10f-

OB
NPv3.lada
AR4.0ada

10
Latitude

clmcalipsozon

LW CRETOA (Wim2)

BS
— CM6I-LRamip-hist- 1870
— NPvlada
— ARd0ada

Planctary albedo (%)

s
— CMOI-LR-amip-hist 1570
— NPvalada

10
Latitude

cllcalipsozon

60

501

High Cloud (%)

10
Latitude

clhcalipsozon

10
Latitude

LMDZ Middie Cloud (%)
T

oS
— CMEI1-LR-amip-hist- 170

LW CRE surface (Wim2)

ons
— CMéI-LR-amip-hist- 1570

T —— o5
— CMBI-LR-amiphis- 1570 — CMEI-LRamiphis 1870
a ~ — NPvi.lada — NPviada
2 AR Gada 2 AR Ouda
2 H
7 — z
] ~~ g .
E 5
z Z
" -100 1 1
| | | | | \
o ] o E]

10
Latitude

10
Laitude

oF

Total CRE surface (Wn2)

— CM6I-LR-amip-hist-1570.
— NPv3.lada
AR4Onda

Total CRETOA (Wim2)

s
— CMBL-LR-amip-hist-1570
— NPvilada

AR4 0ada

OBS
— CM6I-LR amip-hist- 1870
— NPv3.lada
— ARdOuda

g

S, total heat flux (W/m2)

Precipitable water (kg/m2)

10
Latitude

prwzon

OBS
— CMbI-LR-amip-hist- 1870
— Nbv

— ARdOada

10
Latitude

e e
cretszon crettzon
5 —] =
£ — ARdOuda
Z 50 <
H
i
—
‘ ‘

sure (hPa)

1010]

Sealevel

L L

10
Latitude

pslzon

OBs
— ML amip-hist- 1870
— NPv3.lade



ons
— CMI-LR-amip-hist-1570.

OBS
— CMéIL-LR-amip-hist- 1570
3lada

OBS
— CM6I-LR-amip-hist- 1870
V3 lada

g = Nrdiu £ g o
z = AR4Oada AR4.Oada
S a0l
E = i
% ol z
Fl F
0= L L 1 N
g o 2 g o 2
Latiude Laiade

T - T T T s s
g 4ok 2 — CMGIL-LR-amip-hist- 1570 — CMOL-LR amip-hist- 1570
g £- NP lada NP3 lada
H 2 = Niioua = Mo
3 ES
2 :
5} 3
P T
L 3
B T
;‘ E3
i

| | |

g 0 2

Latiude

rlahcrezon

s
— CMéI-LR-amip-hist-1570

OBS
— CMBI-LR-amip-hist- 1870

& 420 A — Npvatada | — Nev3ade
R § B |
g : s
1 — E ]
z 3 :
7 4 H
v 360 - 3801 B =460 N
rldscszon rldszon rluszon
s — T 3 T oBS
3 — NPvi.lada ~ — NPvi.lada 2 — NPva.L
E AR4.0ada AR4.0ada 5 10} AR4.0ada
z a g
= £ g
=P z L
z Z s 4 £
fE < =
=] . E
rlutcszon rlutzon
- T OBS OBS BS
g — CM6I-LR-amip-hist- 1870, — CM6I-LR-amip-hist- 1570 — CM6I-LR-amip-hist- 1870
g = o A = o = o
z — AR4Oadn a AR Oada — AR40ads
4 £
H 3
& ool _ H
3 = H
z / [
£
5
0 10 20 0 10 20 - 0 10 20
rsahcszon rsahzon rsdscszon
3001 . CM6LLR-amiphist 1870 _ . CM6I-LR-amip-hist-1570 £ — CMbL-LReamiphist 1870

- Npvlada g | = Npviteca 2 - Npvtada
Sl i
I 3
5 z
Z 200l 2

= 150 E
L 1 1 L 1 L < L 1 L

10
Latitude

10
Latitude

H 8

Rad SW Totsl TOA (Wim2)
2

—
1)
-+
-+
N
Q
=

OBS
— CMBIL-LR-amip-hist- 170
— NPvilade
— AR40ada

fee ClearSky (Wim2)

SWap a

BS
— CMOL-LR-amip-hist- 1870
— NPva.lada
— AR4Oada

rsttcszon

SWup atsfee (Wim2)

OBS
— CMBI-LR-amip-hist- 1870
— NPv3.lada
— AR4Ouda

SWap at TOA ClearSky (W/m2)

10
Latitude

rsutcszon

OBS
CMG1-LRamip-hist 1570
NPv.lada
AR Ouda

Ir'suscszon

160

Upnvard SW rad TOA (W/m2)

rsutzon

10
Latitude

OB
CMGI-LR-amip-hist- 1570,
Py lada

ARAOada

rtszon

10
Latitude

CMBI-LR-amip-hist- 1870
NPV lada



OBs
— CMGI-LR-amiphist- 1570
— NPvalada
— ARdOada

Clear Sky Total Radiation TOA (Wim2)

10
Lattude

rttcszon

B
— CM6I-LR-amip-hi
— NPlada

AR4 0ada

1570

Temperature 2m (©)

10
Latitude.

500hPa geopo

L L 1

10
Latitude

zgh00zon

n TOA (Wim2)

Total Radiat

10
Latitude

10
Latitude

OB
— CMéI-LR-amip-hist-1570

NPV lada
— AR40uda

001

Zonal wind stress (Nim2)

I
0 20
Latiude

tauuzon

OBS
— CMI-LR-amip-hisc 1870
— NPv3lada

AR40ada

0
Latiude

tauvzon

B
— CMEL-LR-amip-hist- 1570
— NPvalada

AR Oada




